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Rhys buys 3 magazines. Work out how much change Rhys should Rhys buys 3 magazines. Work out how much change Rhys should
receive. receive.

The first magazine cost £4.99 The first magazine cost £4.99

The second magazine cost £3.45 The second magazine cost £3.45

The third magazine cost £4.80 The third magazine cost £4.80

He pays with a £20 note. He pays with a £20 note.

A parallelogram is translated from position | Complete the sentence A parallelogram is translated from position | Complete the sentence
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2 The parallelogram has moved squares to the left 2 The parallelogram has moved squares to the left
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